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(g) electron density: 
sum over k-states in the Brillouin zone that have energy < \epsilon_F. Each state is 
occupied by 2 electrons. Divide by # of k-states in BZ, to get electrons per unit cell 
 
band 1: 2 electrons/unit cell 
band 2: 2 electrons/unit cell 
band 3: 0.37 electrons/unit cell 
total: 4.37 electrons/unit cell 
 
unit cell area = (2.5A)2. n=electrons/unit cell/unit cell area 
==> electron density n =0.70 x1016 electrons/cm2 

 

 

 

(h) Density of states per eV per unit cell versus energy in eV is given in following graphs 
for band 1, band 2, band 3, and total.  
Fermi energy is dashed line. Integral of density of states over each band gives 2.  
For band 3, integral up to Fermi level gives 0.37. 
 
 












